N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

[N o associated

ized x?

ck vs normal

[N of reco tra

track x?

8 10 12 14 16 18 20
erser

6

4

syoen areandnp oney

track x2

0 2 4 6 8 10 12 14 16 18 20

0
0
10
10
1
It
1.
0.9)
0.

Soel} e} oney syoel) axyey oney

18 20

track x2

16

8 10 12 14

m
-newgeom

W
a

T

seten
s

PR TTTANEE TYITETE L
o > — 2

=1

— P 0|

0 2 4 6

PRITE TRV T YRR |
D

o =
=] =1

syoes ang oney

=N

0,

SR

syoesy angy oney

track x2

T __.m:..- T
[ <
=] =
= =

syoen

0 2 4 6 8 10 12 14 16 18 20

0.
N of reco track vs. B M

syoen oney



	Contents
	Page 1


